# On a generalized Taylor theorem: a rational proof of the validity of the Homotopy Analysis Method 

Shijun LIAO ${ }^{1}$<br>School of Naval Architecture and Ocean Engineering Shanghai Jiao Tong University, Shanghai 200030, China


#### Abstract

A generalized Taylor series of a complex function was derived and some related theorems about its convergence region were given. The generalized Taylor theorem can be applied to greatly enlarge convergence regions of approximation series given by other traditional techniques. The rigorous proof of the generalized Taylor theorem also provides us with a rational base of the validity of a new kind of powerful analytic technique for nonlinear problems, namely the homotopy analysis method.


Key words: Taylor series, convergence and summability of series, homotopy analysis method.

Mathematics Subject Classification: 41A58, 40A05, 26A06.

## 1. Introduction

In 17th century Isaac Newton [1] gave such a binomial expression for fractional and negative exponents $(1+t)^{\alpha}$, i.e.

$$
\begin{equation*}
1+\sum_{k=1}^{+\infty}\left[\frac{\alpha(\alpha-1)(\alpha-2) \cdots(\alpha-k+1)}{k!}\right] t^{k} \quad(\alpha \neq 0,1,2, \cdots), \tag{1}
\end{equation*}
$$

whose convergence radius is one. Furthermore, the classical Taylor series (see [2])

$$
\begin{equation*}
\lim _{m \rightarrow+\infty} \sum_{k=0}^{m} \frac{f^{(k)}\left(z_{0}\right)}{k!}\left(z-z_{0}\right)^{k} \tag{2}
\end{equation*}
$$

of a complex function $f(z)$ at $z=z_{0}$ is valid mostly in a restricted convergence region

$$
\left|z-z_{0}\right|<\min _{k \in I}\left|\xi_{k}-z_{0}\right|,
$$

where $f^{(k)}\left(z_{0}\right)$ denotes the $k$ th order derivative of $f(z)$ at $z=z_{0}, \xi_{k}(k \in I)$ are all of the singularities of $f(z), I$ denotes the set of index.

[^0]Liao and his co-authors developed a new kind of analytic technique for nonlinear differential equations, namely, the homotopy analysis method [3-14]. Different from perturbation techniques [15], the validity of the homotopy analysis method does not depend upon whether a nonlinear problem contains small/large parameters or not. Besides, unlike all other perturbation techniques and non-perturbative methods such as artificial small parameter method [16], $\delta$ - expansion method [17], Adomian decomposition method [18-21] and so on, the homotopy analysis method provides us with a convenient way to control the convergence of approximation series and adjust convergence regions when necessary (see [10-14]). The homotopy analysis method has been successfully applied to solve many kinds of nonlinear problems in applied mathematics and mechanics. Unfortunately, it is well known that hundreds of examples would not be better than a rigorous logical proof. In the frame of the homotopy analysis method Liao [5] obtained the so-called generalized Taylor series and illustrated that it can be applied to greatly enlarge convergence regions of approximation series given by perturbation techniques [6]. In this paper, without applying the homotopy analysis method, we rigorously derive the so-called generalized Taylor series and logically prove some related theorems about convergence regions. This, in the same time, can provide us with a solid rational base of the validity of the homotopy analysis method, although indirectly.

## 2. The generalized Taylor theorem

THEOREM 1. Let $\hbar$ be a complex number. If a complex function $f(z)$ is analytic at $z=z_{0}$, the so-called generalized Taylor series

$$
\begin{equation*}
\lim _{m \rightarrow+\infty} \sum_{k=0}^{m}\left[\frac{f^{(k)}\left(z_{0}\right)}{k!}\left(z-z_{0}\right)^{k}\right] \phi_{m, k}(\hbar) \tag{3}
\end{equation*}
$$

converges to $f(z)$ in the region

$$
\begin{equation*}
\bigcap_{k \in I}\left|1+\hbar-\hbar\left(\frac{z-z_{0}}{\xi_{k}-z_{0}}\right)\right|<1, \quad|1+\hbar|<1, \tag{4}
\end{equation*}
$$

where

$$
\phi_{m, n}(\hbar)= \begin{cases}1 & n \leq 0  \tag{5}\\ (-\hbar)^{n} \sum_{k=0}^{m-n}\binom{k+n-1}{k}(1+\hbar)^{k} & 1 \leq n \leq m\end{cases}
$$

and $\xi_{k}(k \in I)$ are singularities of $f(z)$.
PROOF. Let $p, z, z_{0}, \hbar \neq 0$ and

$$
\tau=z_{0}-\frac{\hbar p\left(z-z_{0}\right)}{1-(1+\hbar) p}
$$

be complex numbers and $f(\tau)$ a complex function. We have $\tau=z_{0}$ when $p=0$ and $\tau=z$ when $p=1$, respectively. Writing $G(p)=f(\tau)$, we have $G(0)=f\left(z_{0}\right)$ and $G(1)=f(z)$, respectively. If

$$
|1-(1+\hbar) p|<1,
$$

the Maclaurin series of $G(p)=f(\tau)$ about $p$ is

$$
\begin{align*}
& f\left(z_{0}\right)+\sum_{k=1}^{+\infty}\left[\frac{-\hbar p}{1-(1+\hbar) p}\right]^{k}\left[\frac{f^{(k)}\left(z_{0}\right)}{k!}\left(z-z_{0}\right)^{k}\right] \\
& =f\left(z_{0}\right)+\sum_{k=1}^{+\infty}(-\hbar)^{k} p^{k}\left[1+\sum_{r=1}^{+\infty}\binom{k+r-1}{r}(1+\hbar)^{r} p^{r}\right] \frac{f^{(k)}\left(z_{0}\right)}{k!}\left(z-z_{0}\right)^{k}  \tag{6}\\
& =\sum_{n=0}^{+\infty} \sigma_{n} p^{n}
\end{align*}
$$

where

$$
\sigma_{0}=f\left(z_{0}\right), \quad \sigma_{1}=(-\hbar) f^{\prime}\left(z_{0}\right)\left(z-z_{0}\right)
$$

and

$$
\begin{aligned}
\sigma_{n} & =(-\hbar)^{n}\left[\frac{f^{(n)}\left(z_{0}\right)}{n!}\left(z-z_{0}\right)^{n}\right] \\
& +\sum_{k=1}^{n-1}\binom{n-1}{n-k}(-\hbar)^{k}(1+\hbar)^{n-k}\left[\frac{f^{(k)}\left(z_{0}\right)}{k!}\left(z-z_{0}\right)^{k}\right]
\end{aligned}
$$

for $n \geq 2$. So, the $m$ th-order Maclaurin expansion of $G(p)=f(\tau)$ about $p$ is

$$
\psi_{m}\left(z, z_{0}, \hbar, p\right)=\sum_{n=0}^{m} \sigma_{n} p^{n}
$$

which gives at $p=1$ that

$$
\begin{aligned}
& \psi_{m}\left(z, z_{0}, \hbar, 1\right)=\sum_{n=0}^{m} \sigma_{n} \\
& =\sum_{n=0}^{m}(-\hbar)^{n}\left[\frac{f^{(n)}\left(z_{0}\right)}{n!}\left(z-z_{0}\right)^{n}\right]+\sum_{n=2}^{m} \sum_{k=1}^{n-1}\binom{n-1}{n-k}(-\hbar)^{k}(1+\hbar)^{n-k}\left[\frac{f^{(k)}\left(z_{0}\right)}{k!}\left(z-z_{0}\right)^{k}\right] \\
& =\sum_{n=0}^{m}(-\hbar)^{n}\left[\frac{f^{(n)}\left(z_{0}\right)}{n!}\left(z-z_{0}\right)^{n}\right]+\sum_{k=1}^{m-1} \sum_{n=k+1}^{m}\binom{n-1}{n-k}(-\hbar)^{k}(1+\hbar)^{n-k}\left[\frac{f^{(k)}\left(z_{0}\right)}{k!}\left(z-z_{0}\right)^{k}\right] \\
& =\sum_{n=0}^{m}(-\hbar)^{n}\left[\frac{f^{(n)}\left(z_{0}\right)}{n!}\left(z-z_{0}\right)^{n}\right]+\sum_{n=1}^{m-1} \sum_{k=n+1}^{m}\binom{k-1}{k-n}(-\hbar)^{n}(1+\hbar)^{k-n}\left[\frac{f^{(n)}\left(z_{0}\right)}{n!}\left(z-z_{0}\right)^{n}\right] \\
& =\sum_{n=0}^{m}\left[\frac{f^{(n)}\left(z_{0}\right)}{n!}\left(z-z_{0}\right)^{n}\right] \phi_{m, n}(\hbar)
\end{aligned}
$$

where

$$
\phi_{m, 0}(\hbar)=1
$$

and

$$
\phi_{m, n}(\hbar)=\sum_{k=n}^{m}\binom{k-1}{k-n}(-\hbar)^{n}(1+\hbar)^{k-n}=(-\hbar)^{n} \sum_{k=0}^{m-n}\binom{k+n-1}{k}(1+\hbar)^{k}
$$

for $1 \leq n \leq m$. The convergence radius of the Maclaurin series of $G(p)=f(\tau)$, i.e.

$$
\lim _{m \rightarrow+\infty} \psi_{m}\left(z, z_{0}, \hbar, p\right)=\sum_{n=0}^{+\infty} \sigma_{n} p^{n}
$$

is equal to the distance from the nearest singular points $\bar{p}_{k}(k \in I)$ of $G(p)=f(\tau)$ to the point $p=0$. Let $\xi_{k}(k \in I)$ be all of the singularities of $f(z)$. Then, for given $z, \mathrm{z}_{0}$ and $\hbar$, the corresponding singularities $\bar{p}_{k}(k \in I)$ of $G(p)=f(\tau)$ is determined by

$$
\xi_{k}=z_{0}-\frac{\hbar\left(z-z_{0}\right) \bar{p}_{k}}{1-(1+\hbar) \bar{p}_{k}}, \quad(\hbar \neq 0, k \in I)
$$

say,

$$
\bar{p}_{k}=\frac{1}{1+\hbar-\hbar\left(\frac{z-z_{0}}{\xi_{k}-z_{0}}\right)}, \quad(\hbar \neq 0, k \in I)
$$

Furthermore, there exists an additional singularity dependent only on $\hbar$, i.e.

$$
\bar{p}_{0}=\frac{1}{1+\hbar} .
$$

For a given $z_{0}$, if $z$ and $\hbar$ are properly selected so that all above singularities are out of the region $|p| \leq 1$, i.e.

$$
\left|\bar{p}_{0}\right|=\frac{1}{|1+\hbar|}>1, \quad\left|p_{k}\right|=\frac{1}{\left|1+\hbar-\hbar\left(\frac{z-z_{0}}{\xi_{k}-z_{0}}\right)\right|}>1 \quad(\hbar \neq 0, k \in I)
$$

or more precisely to say,

$$
\bigcap_{k \in I}\left|1+\hbar-\hbar\left(\frac{z-z_{0}}{\xi_{k}-z_{0}}\right)\right|<1, \quad|1+\hbar|<1
$$

the Maclaurin series (6) converges to $G(1)=f(z)$ at $p=1$, say,

$$
f(z)=\lim _{m \rightarrow+\infty} \psi_{m}\left(z, z_{0}, \hbar, 1\right)=\lim _{m \rightarrow+\infty} \sum_{n=0}^{m}\left[\frac{f^{(n)}\left(z_{0}\right)}{n!}\left(z-z_{0}\right)^{n}\right] \phi_{m, n}(\hbar) .
$$

This completes the proof.
THEOREM 2. Let $\rho_{k}>0, \gamma_{k}, 0 \leq \beta<1$ and $\alpha \in[-\pi, \pi]$ be real numbers and $\xi_{k}=z_{0}+\rho_{k} \exp \left(i \gamma_{k}\right)(k \in I)$ denote all singularities of a complex function $f(z)$. The general Taylor series (3) converges to $f(z)$ in the region

$$
\Omega=\left\{\mathrm{z}=\mathrm{z}_{0}+\rho \exp (i \theta): \theta \in[-\pi, \pi], 0 \leq \rho \leq \min \rho_{k} \mu_{k}, k \in I\right\}
$$

where

$$
\begin{gathered}
\mu_{k}=\frac{\beta\left[\cos \left(\theta-\gamma_{k}-\alpha\right)-\beta \cos \left(\theta-\gamma_{k}\right)\right]+\sqrt{\Theta_{k}}}{1-2 \beta \cos \alpha+\beta^{2}} \\
\Theta_{k}=\beta^{2}\left[\cos \left(\theta-\gamma_{k}-\alpha\right)-\beta \cos \left(\theta-\gamma_{k}\right)\right]^{2}+\left(1-\beta^{2}\right)\left(1-2 \beta \cos \alpha+\beta^{2}\right) .
\end{gathered}
$$

Proof: Write $\hbar=-1+\beta \exp (i \alpha)$, where $\alpha \in[-\pi, \pi]$ and $0 \leq \beta<1$, thus $|1+\hbar|<1$ holds. Write $z=z_{0}+\rho \exp (i \theta)$, where $\rho \geq 0$ and $\theta \in[-\pi, \pi]$. Owing to (4), the general Taylor series (3) converges to $f(z)$ when

$$
\left|\beta e^{i \alpha}+e^{i\left(\theta-\gamma_{k}\right)}\left(1-\beta e^{i \alpha}\right) \rho / \rho_{k}\right|<1,
$$

i.e.

$$
\left(1-2 \beta \cos \alpha+\beta^{2}\right)\left(\frac{\rho}{\rho_{k}}\right)^{2}-2 \beta\left[\cos \left(\theta-\gamma_{k}-\alpha\right)-\beta \cos \left(\theta-\gamma_{k}\right)\right]\left(\frac{\rho}{\rho_{k}}\right)-\left(1-\beta^{2}\right)<0
$$

for all $k \in I$. Clearly,

$$
\Delta_{k}=4 \Theta_{k} \geq 0
$$

where

$$
\Theta_{k}=\beta^{2}\left[\cos \left(\theta-\gamma_{k}-\alpha\right)-\beta \cos \left(\theta-\gamma_{k}\right)\right]^{2}+\left(1-\beta^{2}\right)\left(1-2 \beta \cos \alpha+\beta^{2}\right)
$$

Thus, we have

$$
\chi_{k}<\frac{\rho}{\rho_{k}}<\mu_{k}
$$

for all $k \in I$, where

$$
\begin{aligned}
& \chi_{k}=\frac{\beta\left[\cos \left(\theta-\gamma_{k}-\alpha\right)-\beta \cos \left(\theta-\gamma_{k}\right)\right]-\sqrt{\Theta_{k}}}{1-2 \beta \cos \alpha+\beta^{2}}<0, \\
& \mu_{k}=\frac{\beta\left[\cos \left(\theta-\gamma_{k}-\alpha\right)-\beta \cos \left(\theta-\gamma_{k}\right)\right]+\sqrt{\Theta_{k}}}{1-2 \beta \cos \alpha+\beta^{2}}>0 .
\end{aligned}
$$

Note that it holds $\rho / \rho_{k} \geq 0$. So, we have

$$
0 \leq \rho<\mu_{k} \rho_{k}, \quad k \in I .
$$

Thus, the general Taylor series (3) converges to $f(z)$ in the region

$$
\Omega=\left\{\mathrm{z}=\mathrm{z}_{0}+\rho \exp (i \theta): \theta \in[-\pi, \pi], 0 \leq \rho \leq \min \rho_{k} \mu_{k}, k \in I\right\} .
$$

This completes the proof.
COROLLARY 1. If a complex function $f(z)$ has only one singularity $\xi_{1}=z_{0}+\rho_{1} \exp \left(i \gamma_{1}\right)$, then, when $\hbar=-1+\beta \exp (i \alpha)$ tends to 0 along the negative real axis, the series (3) converges to $f(z)$ in an infinite region

$$
\left\{z=z_{0}+\rho \exp (i \theta): 0 \leq \rho<\rho_{1} \mu, \theta \in[-\pi, \pi]\right\},
$$

where

$$
\mu= \begin{cases}\sec \left(\theta-\gamma_{1}\right) & \text { when } \theta-\gamma_{1} \in[-\pi / 2, \pi / 2] \\ +\infty & \text { otherwise }\end{cases}
$$

Proof: When $\alpha=0$, say, $\hbar=-1+\beta(0 \leq \beta<1)$, we have

$$
\mu_{1}=\frac{1+\beta}{\sqrt{1-\beta^{2} \sin ^{2}\left(\theta-\gamma_{k}\right)}+\beta \cos \left(\theta-\gamma_{1}\right)} .
$$

Clearly, it holds

$$
\mu=\lim _{\alpha=0, \beta \rightarrow 1} \mu_{1}=\frac{2}{\left|\cos \left(\theta-\gamma_{1}\right)\right|+\cos \left(\theta-\gamma_{1}\right)}
$$

which gives $\mu=\sec \left(\theta-\gamma_{1}\right)$ when $\theta-\gamma_{k} \in[-\pi / 2, \pi / 2]$, but $\mu=+\infty$ otherwise. This completes the proof.

COROLLARY 2. If all singularities of a complex function $f(z)$ are on the left side of the imaginary axis, then, when $\hbar=-1+\beta \exp (i \alpha)$ tends to 0 along the negative real axis, the general Taylor series (3) converges to $f(z)$ on the whole positive real axis.

Proof: owing to COROLLARY 1, this corollary is obviously right.
LEMMA 1. For $0 \leq n \leq m$, it holds $\phi_{m, n}(-1)=1$.

Proof: Owing to the definition of $\phi_{m, n}(\hbar), \phi_{m, 0}(-1)=1$ holds. Furthermore, when $1 \leq n \leq m-1$, it holds

$$
\phi_{m, n}(\hbar)=(-\hbar)^{n}+(-\hbar)^{n} \sum_{k=1}^{m-n}\binom{k+n-1}{k}(1+\hbar)^{k},
$$

which gives

$$
\phi_{m, n}(-1)=1^{n}+0=1 .
$$

Besides, it holds $\phi_{m, m}(\hbar)=(-\hbar)^{m}$ so that we have $\phi_{m, m}(-1)=1$. This ends the proof.

LEMMA 2. Let $n \geq 0$ be finite integer and $\hbar$ a complex number. When $|1+\hbar|<1$, it holds $\lim _{m \rightarrow+\infty} \phi_{m, n}(\hbar)=1$.

Proof: Owing to the definition of $\phi_{m, n}(\hbar), \phi_{m, 0}(\hbar)=1$ holds. Moreover, when $|1+\hbar|<1$, we have

$$
(-\hbar)^{-n}=[1-(1+\hbar)]^{-n}=\sum_{k=0}^{+\infty}\binom{n+k-1}{k}(1+\hbar)^{k} .
$$

Thus, for finite integer $n \geq 1$, it holds

$$
\begin{aligned}
& \lim _{m \rightarrow+\infty} \phi_{m, n}(\hbar)=(-\hbar)^{n} \lim _{m \rightarrow+\infty} \sum_{k=0}^{m-n}\binom{n+k-1}{k}(1+\hbar)^{k} \\
& =(-\hbar)^{n} \sum_{k=0}^{+\infty}\binom{n+k-1}{k}(1+\hbar)^{k}=(-\hbar)^{n}(-\hbar)^{-n}=1
\end{aligned}
$$

This ends the proof.
LEMMA 3. It holds $\Phi_{m, n}(\hbar)=\phi_{m, n}(\hbar)$, where

$$
\Phi_{m, n}(\hbar)= \begin{cases}1, & n \leq 0 \\ (-\hbar)^{n} \sum_{k=0}^{m-n}\binom{k+n-1}{k}\binom{m}{m-n-k} \hbar^{k}, & 1 \leq n \leq m\end{cases}
$$

Proof: When $1 \leq n \leq m$, it holds

$$
\begin{aligned}
& \phi_{m, n}(\hbar)=(-\hbar)^{n} \sum_{k=0}^{m-n}\binom{k+n-1}{k}(1+\hbar)^{k}=(-\hbar)^{n} \sum_{k=0}^{m-n}\binom{k+n-1}{k} \sum_{r=0}^{k}\binom{k}{r} \hbar^{r} \\
& =(-\hbar)^{n} \sum_{r=0}^{m-n} \sum_{k=r}^{m-n}\binom{k+n-1}{k}\binom{k}{r} \hbar^{r}=(-\hbar)^{n} \sum_{k=0}^{m-n} \sum_{r=k}^{m-n}\binom{r+n-1}{r}\binom{r}{k} \hbar^{k}
\end{aligned}
$$

So, we need to show

$$
\sum_{r=k}^{m-n}\binom{r+n-1}{r}\binom{r}{k}=\binom{k+n-1}{k}\binom{m}{m-n-k} .
$$

Noticing that in the relevant ranges, it holds

$$
\binom{r+n-1}{r}\binom{r}{k}=\binom{k+n-1}{k}\binom{r+n-1}{r-k},
$$

which reduces to showing that

$$
\binom{m}{m-n-k}=\sum_{r=k}^{m-n}\binom{r+n-1}{r-k}=\sum_{s=0}^{m-n-k}\binom{s+n+k-1}{s} .
$$

Writing $r=n+k$, the above expression is

$$
\binom{m}{r}=\sum_{s=0}^{m-r}\binom{s+r-1}{s}=\sum_{s=0}^{m-r}\binom{s+r-1}{r-1}=\sum_{j=r-1}^{m-1}\binom{j}{r-1} .
$$

In order to prove this, we use the following formula in The Handbook of Mathematics (G.A. Kurn \& T. M. Kurn, §21.5-1)

$$
\binom{N+1}{n+1}=\sum_{j=n}^{N}\binom{j}{n} .
$$

Setting $N=m-1, n=r-1$, it gives

$$
\binom{m}{r}=\sum_{j=r-1}^{m-1}\binom{j}{r-1} .
$$

This completes the proof.
REMARK 1. Owing to the LEMMA 3, $\phi_{m, n}(\hbar)$ is just the so-called approaching function $\Phi_{m, n}(\hbar)$ obtained by Liao [5] in the frame of the homotopy analysis method.

COROLLARY 3. The classical Taylor series

$$
f\left(z_{0}\right)+\sum_{k=1}^{+\infty} \frac{f^{(k)}\left(z_{0}\right)}{k!}\left(z-z_{0}\right)^{k}
$$

is a special case of the general Taylor series (3) in case of $\hbar=-1$.
Proof: Owing to LEMMA 1, it holds $\phi_{m, n}(-1)=1$ for $n \leq m$. Moreover, when $\hbar=-1$, the convergence region (4) becomes $\left|z-z_{0}\right|<\min _{k \in I}\left|\xi_{k}-z_{0}\right|$. This ends the proof.

THEOREM 3. Let $t, \hbar$ and $\alpha$ be real numbers. Then, the general Newtonian binomial expression

$$
\begin{equation*}
1+\lim _{m \rightarrow+\infty} \sum_{n=1}^{m}\left[\frac{\alpha(\alpha-1)(\alpha-2) \cdots(\alpha-n+1)}{n!} t^{n}\right] \phi_{m, n}(\hbar), \quad(\alpha \neq 0,1,2,3, \cdots) \tag{7}
\end{equation*}
$$

converges to $(1+t)^{\alpha}$ in the region

$$
\begin{equation*}
-1<t<\frac{2}{|\hbar|}-1 \quad(-2<\hbar<0), \tag{8}
\end{equation*}
$$

where $\phi_{m, n}(\hbar)$ is defined by (5).

PROOF: The complex function $(1+z)^{\alpha}(\alpha \neq 0,1,2,3, \cdots)$ has only one singularity $\xi_{1}=-1$. So, by Theorem 1, the series (7) converges to $(1+t)^{\alpha}$ in the region

$$
|1+\hbar+\hbar t|<1, \quad(-2<\hbar<0)
$$

which leads to (8). This completes the proof.

## 3. Conclusion

We rigorously derived the so-called generalized Taylor series (3) and logically proved some related theorems about convergence regions. These theorems indicate that, by multiplying each term of a series by the so-called approaching function $\phi_{m, n}(\hbar)$ defined by (5) and selecting a proper value of the auxiliary parameter $\hbar$, one can greatly enlarge its convergence region. Due to the fact that the so-called generalized Taylor series (3) was first obtained by Liao [5] in the frame of the homotopy analysis method, the proof of the generalized Taylor theorem also provides us with a solid rational base of the validity of the homotopy analysis method, although indirectly.

Acknowledgement This work is supported by National Science Fund for Distinguished Young Scholars of China (Approval No. 50125923).

## References

[1] Newton, I. "On the binomial theorem for fractional and negative exponents". In: A Source Book in Mathematics. (ed. G. D. Walcott), New York, McGraw Hill Book Company, 1929, pp. 224-228.
[2] Dienes, P., The Taylor Series, Oxford, Dover, 1931.
[3] Liao , Shijun, "The proposed homotopy analysis method for nonlinear problems", Ph. D. dissertation, Shanghai Jiao Tong University, 1992.
[4] Liao, Shijun, "An approximate solution technique not depending on small parameters: a special example", Int. J. Non-Linear Mech., 30, 1995, pp. 371-380.
[5] Liao, Shijun, "A kind of approximate solution technique which does not depend upon small parameters (Part 2): an application in fluid mechanics", Int. J. Non-Linear Mech., 32, 1997, pp. 815-822.
[6] Liao, Shijun, "A simple way to enlarge the convergence region of perturbation approximations", Nonlinear Dynamics, 19, 1999, pp. 93-110.
[7] Liao, Shijun, "An explicit, totally analytic approximation of Blasius' viscous flow problems", Int. J. Non-Linear Mech., 34, 1999, No. 4, pp. 759-778.
[8] Liao, Shijun, "A uniformly valid analytic solution of 2D viscous flow past a semi-infinite flat plate", J. of Fluid Mechanics, 385, 1999, pp. 101-128
[9] Liao, Shijun and Campo A., "Analytic solutions of the temperature distribution in Blasius viscous flow problems", J. of Fluid Mechanics, 453, 2002, pp. 411-425.
[10] Liao, Shijun, "An analytic approximation of the drag coefficient for the viscous flow past a sphere", Int. J. Non-Linear Mech., 37, 2002, pp.1-18.
[11] Liao, Shijun, "An explicit analytic solution to the Thomas-Fermi equation", Applied Mathematics and Computation, to be published.
[12] Liao, Shijun, "An analytic approximate technique for free oscillations of positively damped systems with algebraically decaying amplitude", Int. J. Non-Linear Mech., to be published.
[13] Liao, Shijun, "An analytic approximate approach for free oscillations of self-excited systems", Int. J. Non-Linear Mech., to be published.
[14] Liao Shijun and Cheung, K. F., "Analytic solution for nonlinear progressive waves in deep water", J. Engineering Mathematics, to be published.
[15] Nayfeh, A. H., Perturbation methods, New York, John Wiley \& Sons, Inc., 2000.
[16] Lyapunov, A. M. (1982), "General problem on stability of motion", London, Taylor \& Francis, 1992 (English traslation).
[17] Karmishin, A. V., Zhukov, A. I. and Kolosov, V. G., Methods of dynamics calculation and testing for thin-walled structures, Moscow, Mashinostroyenie, 1990 (in Russian)
[18] Adomian, G, "Nonlinear stochastic differential equations", J. Math. Anal. And Applic., 55,1976, pp. 441-452.
[19] Adomian, G., Solving Frontier Problems of Physics: the Decomposition Method, Boston, Kluwer Academic Publishers, 1994.
[20] Wazwaz, A. M., "The decomposition method applied to systems of partial differential equations and to the reactioncdiffusion Brusselator model", Applied Mathematics and Computation, 110, 2000, pp. 251-264.
[21] Shawagfeh, N. T., "Analytical approximate solutions for nonlinear fractional differential equations", Applied Mathematics and Computation, 131, 2002, pp. 517-529.


[^0]:    ${ }^{1}$ Email: sjliao@ sjtu.edu.cn

